Pedestal — Calibration run

* Most of the channels ( ¥99% )have rather stable pedestals

* Maximum and minimum pedestal mean within 1 ADC values for all calibration
runs (~50 runs)

* Width of the pedestal distribution typically a few ADC values

* Some channels have large pedestal width, but mean value still stable: W605,
w604, W575

* Following channels have relatively bad pedestal (more than 10% of
the runs have pedestal mean differ from minimum by 1 ADC value)

Large width: W6

Tail on one side of the distribution: G632, G238, G171, G55, G41

Double peak: W269

Pedestal shift: G537

* Jumpy pedestal mean (shape looks good, but mean values not stable): W305,
W306, W880, W985



Example of Good Pedestal —W300
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Example of Good Pedestal —W300
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Bad Pedestal — W605 (Large Width)
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Bad Pedestal — W605 (Large Width
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Bad Pedestal — W605 (Large Width
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Bad Pedestal — W604 (Large Width
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Bad Pedestal — W604 (Large Width
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Bad Pedestal — W575 (Large Width)
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Bad Pedestal — W575 (Large Width
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Bad Pedestal — W575 (Large Width
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Bad Pedestal — W6 (Very Large Width)
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Bad Pedestal — W6 (Very Large Width
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Bad Pedestal — ery Large Width
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Bad Pedestal — G632 (Tail)
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Bad Pedestal — G632 (Tail)
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Bad Pedestal — G632
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Bad Pedestal — G238 (Tail)
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Bad Pedestal — G238 (Tail

se0of

sa00f

r200f=

1000

Erres ST
viean o

S

956

16%)
1200
7200) 1409
1000 1000 1200
ol ool 1009
o
ool ol
E
oo} aoof
a
200} 200} 2
962
se00) 1200] 1400
1600
1000) 1200
1a00)
1200 ool 1000
1000} o
ol
ol o
ool aoof
0ol
200}
200} =
968
1e00]
1a00]
1200
1000
a0l
ool
oo}
200}
973

Enes 47007
viean

w7

1500)

1000)

a0l




Ped Mean

542

540

538

536

534

532

530

528

526

8

Bad Pedestal — G171 (Tail)
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Bad Pedestal — G171 (Tail
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Bad Pedestal — G55 (Tail)
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Bad Pedestal — G55 (Tail)

951 952 953 955 956
100
60 . 258 1600 758 o0 o 5 o 55 16
o0
1400} 1400 oo
00 1400
200} 200 3
. 1 seo0fe By
1200 200}
1000 1000 1000 f "
e 3 oo}
a0 a0 eoofe P
a0
o o oo oo &
0 a e wf «
20 20 2o 2oof 2
957 958 961 962
1o00} 1600 s 1a00 P T
16
1400 1400 1800 a0
1400 )
1200 1200 oo
1200 1)
1000 1000 ke 3 1000
1000
oo a0 oo
a0 o
e o aofe o
0
an ao P o u
20 20 200 of F
965 966 968 969
" e | e 16
ool 0 \00
£ 4l e 1600 = fe
1600 1400
1400 L0 .
1200 140 200 1200
1200 f
1200
1000} 100 1000
1000 i 3 W
o0 0
o w0
oo &
o &0 oo
o o 0 o “
2 P 20 200 E
970 971 973 974
coool e 3 e aovol s
7000
o 2057 7000 Mean 2057 o) Voan 2358 Voan 2357
3 3 7000}
soool o000 o000,
5000 ool
e 5000 sooo =
4000 sovol
o0 aoof
a0 ao0o)
000
00
. a000 000
2000
2000
2000 200
Tomf " 3
1000 000 1000 1o
et o Lo L by ety ek Pty
975 976 978
e
ean. 20 oo 25
aoool 7000 3500 coool
s
soool a0 000 oo
5000 2500 oo
<o) ao0o)
4000 2000
aoool o0 o
3000 1500
2000} 0= 2000}
2000 1000
1000} 1000 w0 100 1000
vkt H iy vkt H = o vt riehyensherhys e




Ped Mean

Bad Pedestal — G41 (Tail)
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Bad Pedestal — W269 (Double peaks)
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Bad Pedestal — W269 (Double Peaks
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Bad Pedestal — G537 (Pedestal Shift)
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Bad Pedestal — G537 (Pedestal Shift
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